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QD a>b>c
2 a<bzcc
@ a=c>b
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(1) Rwvy=7(24-Rxy)
(@) Ruy=7Rxy

(3 Ruy=-7Rxy
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(1) cosx=

Alw ol

(2) tanx =
4
3 cotx=—§
5
(4) %CXZ—Z
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(5) C$X=§

a,b,c

f(x)=ax’+bx+c

(0,-1) X
(1) a<0
(2 b>0
Q) c=-1
(4 b*+4ac=0
(5) atb+c<0

a,b,q,r

a=bg+r

(a,b) a b
@ (a,b)=(b,r)
@ (a,b)=(q,r)
® (a,q)=(b,r)
@ (a,q)=(q,r)
) (a,r)=(b,q)
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) 26
) 28
(3) 82
(4) 103
() 284

A(150,200),B(146,203),C(-4,3),0(0,0)

6)) ABCO

© ABCO

) ABCO

0 ABCO AC 251
G) ABCO 1250

(1) 5y=2x
(2) 5y=3x
(3) 5y=2x+1
(4) 5y=-2x
(%) y=100

z %=1, zz1
@ lz|=1
2 z’=1
Q) *=1 Z*=-1
@ 1Z°]=1

(5) 1+z+72°+72°+7z*+2°=0
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1,2,3,4,5,6,7,8,9
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f(x) x?-5x+4 X+2 x?-5x+6 3x+4
f(x) x?-4x+3
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E. kK m C 60°
C 450 A B
k, m A,B c
D@ y 5
V3 ~ 1.732, 1 ~ 3.142 /60"
F. 2
4 @29
G. X A(2,0),B(-4,0) X
C /BAC  /ABC D(%,—S)
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. AABC
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snA snB snC
(2)c* =a® +b* — 2abcosC ( )
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M(E=X)=—(X +X, ++X,)=—2X
n ni-1

Sz\/izn‘,(xi ~ X)? =\/1§xf—x
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i=1

P(AP(BI[A)
P(AP(B|A) + P(A)P(B| A)

P(A|B) =

V2~ 1.414 1 3 ~ 1.732 : B ~ 2.236 ; 7 ~ 2.646 :

log,, 2 ~ 0.3010, log,, 3~ 0.4771, log,, 5~ 0.6990, log,, 7 ~ 0.8451

/I

~ 3.142
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3 22 4
5 23 1
345 | 24 4
135 [ 25 1
14 26 3
235 | 27 6
1,25 | 28 0
1,24 | 29 1
1,345 | 30 2
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